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Instructions :

(if)

(iii)

(iv)

All questions are compulsory. There are total 26 questions in this
question paper.

3G WII-U51 & UrH 91 € —QUS-31, WUs-+, WUe-H, WUe-< i GUe-3 |
This question paper has five sections—Section-A, Section-B, Section-C,
Section-D and Section-E.

TUg-31 | U9 Y 8, TA® 1 1 3k ¥ 1 @Ue-9 § Uig Y €, TIF &
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Section-A contains five questions of 1 mark each. Section-B contains

five questions of 2 marks each. Section-C contains twelve questions
of 3 marks each. Section-D contains one question of 4 marks and
Section-E contains three questions of 5 marks each.

GUe-< 991 WUS-3 & Tt Y3l H 37afieh faehed o qraem € |

Internal choices are given in all questions of Section—D and Section-E.
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EUue-31 / (Section-A)

forgga fgya ol o1 SI \rek qent fodta o fafaT

Write SI unit and dimensional formula of electric dipole moment.

T & foega-greeia IR & gt fem &1 fafa )

Write Faraday’s second law of electromagnetic induction.

= & fgfete wam o fife =ieE W @ g9 v, afg fiere eft o &
o= ot g ol wfe foan S ?

What will be the effect on fringe width in Young’s double-slit

experiment, if the distance between slit and screen increased?

3TTqh GRI ST o1 hi ol IGH TR TeheI-Seiae Ml hl HE&A T -1

JI1E g ?
What will be the effect on number of photoelectrons as you increase

the intensity of incident light?

I Ys Asdas | st snifg fuamt s, @ feg ywr @
TSR T ?
Which type of semiconductor will be formed, if trivalent impurity is

added to pure semiconductor?

Eus-d / (Section-B)

geaft o fava &1 31 R AHT ST € 7 ¥FTcHeh T8 Rolceh faia o1 37
FATRT |
Why the potential of earth is considered to be zero? Explain the

meaning of positive and negative potential.

p TRTIEERAT ATel AR T Tt ITeh! owalTg faf Rt <t It © | SHeht
YfcRIEhal TR AT GHT TS 2

A wire of resistivity p is stretched to three times its length. What will

be the effect on its resistivity ?
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By connecting the electrodes of a cell to a resistance of 20 ohms, its

potential difference remains from 50 volts to 40 volts. Calculate the

internal resistance of the cell.

2]
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What is destructive interference? Write its essential conditions (any #wo).

T e T ohT ek STTeRTel | Tie YHR GR9e § 2 R0 SIed |

Can it possible the audio frequency waves be transmitted through

free space? Give reason.

Qus-H / (Section-C)

Hiex 9q ki wegrEd 9 frdft ar o1 gfaty 9 w3 o1 fafy s aoE
frafafad st o STuR W) ifay :

(i) forga dftaey = fo=t

(if) 3 I TATAT

Describe an experiment to determine the resistance of a wire by
meter bridge on the following points :

(i) Circuit diagram

(if) Derivation of formula

T hIvT T8 hgd € 2 fohdll T W geat o1 &fas e H, Seafer e
Ve RoTH diorar / o TeT g Tid it |

What is angle of dip? Establish the relationship between horizontal
component H of the earth, the vertical component J and resultant

intensity / at a place.
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What is power in a.c. circuit? Obtain an expression for average

power in a complete cycle of a.c. circuit.
X-fertuni st @i foRem ot off ? X-feronl < <1 701 aern <1 He gl ST
fafem

Who discovered X-rays? Write two properties and two important

uses of X-rays.

WeRITTeh T 1 & 2 3Hep STAI fafE (SiE =) |

What is optical fiber? Write its uses (any four).

T SYIEAA oI & TMeld g3t i ashal f5oamd 20 ¥4 € 1 A ag &
TUe] T F ol STIAdHAIR 1.5 B, A1 99 i hichd G 1T hiTolT |

A double-concave lens has radii of curvature 20 cm. If refractive
index of lens with respect to air is 1.5, then calculate the focal length

of the lens.

afg 6000 A qETeEd % G Wi i el 9.92 x 10719 5t €, @

o LN K3 ~ o [a)
4000 A qUTes & TG B T Sl Rt g 2

If the energy of a photon corresponding to wavelength 6000 A
is 9.92 x 10719 joule, then what will be the energy of the photon

corresponding to wavelength 4000 A2

[1+2=3]

[1+2=3]

[1+2=3]
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g 3_5j|5|'_'| Wﬁ AT IO o

() e F[ w9 fafeu [1]
(i) T IS 9 Yo BIel qUIesd T TRE 1 Sl © ? [1]
(i) I 9o, TaeA & foHq & § gedi § 2 [1]

In the Lyman series of hydrogen atom :

(i)  Write the formula to find wavelength.

(i) What is the range of maximum and minimum wavelength?
(7ii) In which region of the spectrum does this range fall?

TRt fargues 1 € ? Toh IR0 Thl THEET | [1+2=3]
What is nuclear fission ? Explain with an example.

ol o ed € 2 sred-ain faes o forga uftuy o1 fos wd 9=

o g1t et 9 frfa fava umk ST [1+2=3]

What is rectifier? Draw a diagram of electric circuit of half-wave
rectifier and draw graph for input voltage and output voltage with time.

o o X 9o Y gr sifera AifSer 1 ot 9g= shifSTe e geordr 9ron
SR | [3]

A
X bc °
B frfa

Identify the logic gates denoted by X and Y in the figure and write

the truth table.
A
YA
B Output

AT M § ? Go¥ faa &l 951 & fou Aige i sTewdehd i
BT ® ? [1+2=3]
What is modulation? Why is modulation needed to send a message

signal?
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Eue-q / (Section-D)
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(if) @l ¥R S o & 9Tl 1 AW fafan |
(i) TS dq e TERE YO N Wi & gl w3’
I | [1+2+1=4]

The teacher of Sanjay’s school took the students of Class-XII to
NTPC, Korba for an educational tour. Presently power generation
from coal and gas is done by NTPC Limited with an installed
capacity of 43128 megawatt. NTPC Limited is the largest company
in the country. Seeing the device Sanjay asked to his teacher about
the device. The teacher said that an alternating current generator is
a device which converts mechanical energy into alternating current.
Sanjay listened carefully to the teacher and asked questions about
alternating current generator.

(i)  On what principle does the generator work?
(if) Write the names of main parts of an alternating current generator.
(iii) Mention two values displayed by Sanjay and the teacher each.

34T /OR

TS o forermera o freres fomnfai=i =0 dfaren ymor ¥g 9iek wic W Y|
Torerss = s for geamedt 9m < ®9 H forggd St 61 guor orwsit Rt aeh
el H fwan S 1 39k T STk ot U= fohan S ® 1 o A

Torerer 1 ST ! SAMYE® G 3R ZAHE & foma 378 9 9 |

(i) R fRE fagia W e e ?

(if) AR QAT ATERT TFHER H < AR fafan |
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M-34A



YI1-24

[7]
The teacher of Dheeraj’s school took the students to the power
plant for an educational tour. The teacher said that in the form of
alternating current, the transmission of electric energy is done in cities
for such long distances. Transformer is used for this transmission.
Dheeraj listened carefully to the teacher and asked questions about

transformer.

(/)  On what principle does the transformer work?
(if) Write two differences between step-up and step-down transformer.

(iii) Mention two values displayed by Dheeraj and the teacher each.

©ue-3 / (Section-E)

TRt TMella go3 G Uehl¥l o 3T 54

p—1 p 1

R vV o u

1 T iy, STef Hehdl o a1l T © | [5]

Derive the formula for refraction of light through any spherical surface

p—1 p 1

R vV o u

where symbols have their usual meaning.

34T /OR

aWal

Ty Yeraefl skl fohtur S Eige fadH & & foi =isieh J1d Shifsit—

() & sifan gfafers Tote gfte st =gEdH g T e,
(i) =& SAfaH gfafers oHd W aH | [4+1=5]

Find the expression for the magnifying power by drawing the ray

diagram of compound microscope—
(i) when the final image is formed at least distance of distinct vision;

(if) when the final image is formed at infinity.
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TG gH fafae qe sHeh! T8l 9§ S1Hd ThEHM ARG F9de 96l
ol forddt forrg WX forgga &1 <kl <fiardl o1 stk a1 shifS | [1+4=5]

Write Gauss theorem and by using this theorem derive an expression
for intensity of electric field at any point due to uniformly charged

infinite plane sheet.

34T /OR

Ty ford gd € ? foel THiR wie 9o &1 aifiar & fau =i
I SIS | IR &l Tk 39T fafaa | [1+3+1=5]
What is capacitor? Derive an expression for the capacity of parallel

plate capacitor. Write down one application of capacitor.

TR 1 9Rmet fram fafge qean st wemar 9 fad uremeE
qRATfCTeRT o ST FrIhId & i dierdl ohl SsTeh Zcd— hiTad | [1+4=5]

Write Ampere’s circuital law and by using this law derive the
expression for intensity of magnetic field inside a current-carrying
solenoid.

3774 /OR
= FSell YRMET &1 oA = fagsii & siaia sifag [2+3=5]
(i) riferd Yafes
(i) fasm@

Explain moving coil galvanometer on the following points :

(/) Labelled diagram
(if) Principle

oooooooooo
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